

Question 3 (20 Points) Tan-(1) Tan-(2) Tan*(3) Tan (3) Tan (4) Consider The Series + + 2. 5 10 17 +

Question 3 (20 Points) Tan-(1) Tan-(2) Tan(3) Tan (3) Tan (4) Consider The Series + + 2. 5
10 17 +

Understanding mathematical series and sequences is fundamental in advanced mathematics, especially when dealing with pattern recognition, algebraic expressions, and series summation. The question presented involves analyzing a series with multiple terms and potentially complex patterns, which requires a systematic approach to decode and interpret. In this article, we will explore the series step-by-step, identify the underlying pattern, and demonstrate methods to evaluate or extend the series. We will also delve into related concepts such as arithmetic and geometric progressions, differences, and summation techniques, providing a comprehensive guide suitable for students and enthusiasts of mathematics.

Deciphering the Series: An Initial Overview

The series in question appears as:
+ + 2. 5 10 17 +

At first glance, the notation is somewhat ambiguous, but it suggests a sequence of numbers with potential patterns. The presence of plus signs and the sequence of numbers 2, 5, 10, 17 indicates that these might be terms of a series, possibly with a pattern in their differences or a formula generating each term.

To interpret this correctly, let's consider possible scenarios:

- The plus signs could denote the addition of terms or operations.
- The numbers 2, 5, 10, 17 may be terms in a sequence.
- The sequence might involve quadratic or cubic patterns, given the non-uniform differences.

Given these considerations, our first step is to analyze the sequence of numbers separately to understand their pattern.

Analyzing the Numerical Pattern

Listing the Terms

The sequence provided is:
2, 5, 10, 17

Let's examine the differences between consecutive terms:

- $5 - 2 = 3$
- $10 - 5 = 5$
- $17 - 10 = 7$

The differences are 3, 5, 7 — which form an arithmetic sequence themselves, increasing by 2 each time.

Identifying the Pattern

The differences (3, 5, 7) suggest that the sequence might be quadratic in nature, because the second differences are constant:

- Second difference: $5 - 3 = 2$
- $7 - 5 = 2$

Since the second differences are constant (+2), the sequence is quadratic, and we can attempt to find its general term.

Deriving the Formula for the Series

Finding the Quadratic Formula

A quadratic sequence generally has the form:

$$T_n = an^2 + bn + c$$

Using the known terms:

- When $n=1$, $T_1 = 2$
- When $n=2$, $T_2 = 5$
- When $n=3$, $T_3 = 10$
- When $n=4$, $T_4 = 17$

Let's substitute these into the quadratic formula:

- $a(1)^2 + b(1) + c = 2 \rightarrow a + b + c = 2$ (Equation 1)
- $a(2)^2 + b(2) + c = 5 \rightarrow 4a + 2b + c = 5$ (Equation 2)
- $a(3)^2 + b(3) + c = 10 \rightarrow 9a + 3b + c = 10$ (Equation 3)

Subtract Equation 1 from Equation 2:

$$(4a - a) + (2b - b) + (c - c) = 5 - 2$$
$$3a + b = 3 \quad \text{(Equation 4)}$$

Subtract Equation 2 from Equation 3:

$$\begin{aligned} & [(9a - 4a) + (3b - 2b) + (c - c) = 10 - 5] \\ & [5a + b = 5] \text{ (Equation 5)} \end{aligned}$$

Subtract Equation 4 from Equation 5:

$$\begin{aligned} & [(5a - 3a) + (b - b) = 5 - 3] \\ & [2a = 2] \\ & [a = 1] \end{aligned}$$

Now, substitute $(a=1)$ into Equation 4:

$$\begin{aligned} & [3(1) + b = 3] \\ & [3 + b = 3] \\ & [b = 0] \end{aligned}$$

Finally, substitute $(a=1)$ and $(b=0)$ into Equation 1:

$$\begin{aligned} & [1 + 0 + c = 2] \\ & [c = 1] \end{aligned}$$

Thus, the general term:

$$[T_n = n^2 + 1]$$

Verification:

- For $(n=1)$: $(1^2 + 1 = 2)$ ✓
- For $(n=2)$: $(4 + 1 = 5)$ ✓
- For $(n=3)$: $(9 + 1 = 10)$ ✓
- For $(n=4)$: $(16 + 1 = 17)$ ✓

The sequence of the terms is confirmed to follow:

$$[T_n = n^2 + 1]$$

Summation of the Series

Given the sequence is $(T_n = n^2 + 1)$, the original series likely involves summing these terms or related expressions.

Suppose the series is:

$$[\sum_{n=1}^k T_n = \sum_{n=1}^k (n^2 + 1)]$$

which simplifies to:

$$[\sum_{n=1}^k n^2 + \sum_{n=1}^k 1]$$

The sum of squares:

$$\sum_{n=1}^k n^2 = \frac{k(k+1)(2k+1)}{6}$$

The sum of ones:

$$\sum_{n=1}^k 1 = k$$

Hence, the total sum:

$$S_k = \frac{k(k+1)(2k+1)}{6} + k$$

This formula allows us to compute the sum of the first k terms.

Applying the Series to Specific Values

Let's evaluate the sum for specific values of k :

- For $k=5$:

$$S_5 = \frac{5 \times 6 \times 11}{6} + 5 = \frac{330}{6} + 5 = 55 + 5 = 60$$

- For $k=10$:

$$S_{10} = \frac{10 \times 11 \times 21}{6} + 10 = \frac{2310}{6} + 10 = 385 + 10 = 395$$

- For $k=17$, as indicated in the original series:

$$S_{17} = \frac{17 \times 18 \times 35}{6} + 17$$

Calculate numerator:

$$17 \times 18 = 306$$

$$306 \times 35 = 10710$$

Divide by 6:

$$\frac{10710}{6} = 1785$$

Add 17:

$$1785 + 17 = 1802$$

Thus, the sum of the first 17 terms:

$$S_{17} = 1802$$

Addressing the Ambiguity in the Original Notation

The initial question's notation "Question 3 (20 Points) Tan-(1) Tan-(2) Tan(3) Tan (3) Tan (4) Consider The Series + + 2. 5 10 17 +" suggests a more complex or multi-part problem, possibly involving tangent functions, derivatives, or other operations.

However, based on the clear numerical pattern identified ($T_n = n^2 + 1$), we can interpret the series as a quadratic sequence with straightforward summation formulas.

Related Concepts and Techniques in Series Analysis

Arithmetic and Geometric Series

While our sequence is quadratic, understanding basic series types enhances comprehension:

- Arithmetic Series: Terms increase by a constant difference.
- Geometric Series: Terms increase by a constant ratio.

Our sequence's pattern involves quadratic growth, so techniques for quadratic sequences are more suitable.

Difference Tables and Pattern Recognition

Difference tables help identify the degree of the sequence:

- First differences: $(3, 5, 7)$
- Second differences: constant at 2

Constant second differences indicate a quadratic sequence.

Summation Techniques

Summing sequences like (n^2) involves known formulas, e.g.:

$$\sum_{n=1}^k n^2 = \frac{k(k+1)(2k+1)}{6}$$

Including constants, as in our case, simplifies the calculation.

Practical Applications of Series Analysis

Understanding and manipulating series are invaluable in various fields:

- Physics: Calculating displacement, velocity, and acceleration over time.
- Economics: Summing cash flows or interest

Frequently Asked Questions

What is the pattern or sequence represented by the series + + 2, 5, 10, 17 +?

The series appears to be based on a quadratic pattern where each term can be expressed as $n^2 + 1$, resulting in the sequence 2, 5, 10, 17, etc.

How can we find the next term in the series 2, 5, 10, 17?

Identify the pattern: the differences between terms are 3, 5, 7, which increase by 2 each time. The next difference will be 9, so the next term is $17 + 9 = 26$.

What is the general formula for the nth term of the series + + 2, 5, 10, 17 +?

The nth term can be written as $T_n = n^2 + 1$, where n starts from 1. For example, when $n=1$, $T_1=2$; $n=2$, $T_2=5$; $n=3$, $T_3=10$; $n=4$, $T_4=17$.

How are the terms in the series related to perfect squares?

Each term in the series is one more than a perfect square: 2 (which is $1^2 + 1$), 5 ($2^2 + 1$), 10 ($3^2 + 1$), 17 ($4^2 + 1$), indicating a quadratic relationship.

Can the series + + 2, 5, 10, 17 + be expressed as a quadratic function?

Yes, the series can be represented by the quadratic function $T(n) = n^2 + 1$, which generates the sequence for $n=1, 2, 3, 4, \dots$

What is the significance of the numbers 2, 5, 10, and 17 in the series?

These numbers are the values of the quadratic expression $n^2 + 1$ evaluated at $n=1, 2, 3$, and 4 , respectively, illustrating the quadratic pattern of the sequence.

How can the series be extended infinitely?

By applying the formula $T(n) = n^2 + 1$, the series can be extended indefinitely for $n=1, 2, 3, \dots$ with each subsequent term calculated accordingly.

What are some practical applications of identifying such series patterns?

Recognizing quadratic sequences helps in solving problems related to motion, area calculations, financial modeling, and pattern recognition in various fields like computer science and engineering.

Is there a visual or geometric interpretation of the series $1 + 2 + 5 + 10 + 17 + \dots$?

Yes, the series can be visualized as the sum of squares or as the sequence of points lying on a parabola $y = n^2 + 1$, providing a geometric perspective of the quadratic pattern.

Additional Resources

Question 3 (20 Points): An In-Depth Analysis of the Series $1 + 2 + 5 + 10 + 17 + \dots$

The series $1 + 2 + 5 + 10 + 17 + \dots$ presents a fascinating exploration of numerical patterns and sequence behaviors. Such sequences often serve as fundamental examples in understanding concepts like arithmetic progressions, quadratic sequences, and the methods used to identify and sum series in mathematical analysis. This article aims to dissect this particular series thoroughly, exploring its structure, deriving its general term, understanding its pattern, and analyzing its sum. Through this detailed examination, readers will gain a comprehensive understanding of the series' properties and the mathematical techniques employed to analyze similar sequences.

Understanding the Series: An Initial Observation

Sequence Listing and Pattern Recognition

The series in question is:

1, 2, 5, 10, 17, ...

At first glance, the sequence appears to be a collection of increasing numbers with no immediately obvious uniform difference or ratio. To understand its nature, let's analyze the pattern step-by-step.

- The first term is 1.
- The second term is 2.

- The third term is 5.
- The fourth term is 10.
- The fifth term is 17.

Initial differences between consecutive terms are:

- $2 - 1 = 1$
- $5 - 2 = 3$
- $10 - 5 = 5$
- $17 - 10 = 7$

The sequence of differences is:

1, 3, 5, 7

This pattern of differences is notable because these are consecutive odd numbers. Recognizing this is crucial, as it hints that the sequence might be generated by adding successive odd numbers to the initial term.

Key insight:

- The differences form an arithmetic sequence of odd numbers starting from 1, increasing by 2 each time.

Implication:

Since the difference between terms increases by 2 each time, the sequence of terms can be viewed as a quadratic sequence, as the second difference is constant (equal to 2). This is a classic indication that the sequence follows a quadratic formula.

Deriving the General Term of the Series

Method: Recognizing the Quadratic Nature

Given the constant second difference, the sequence can be modeled as a quadratic function:

$$\begin{aligned} & \backslash \\ T(n) &= an^2 + bn + c \\ & \backslash \end{aligned}$$

where:

- $T(n)$ is the n th term.
- a, b, c are constants to be determined.

Using initial terms to find parameters:

Plugging in the known terms:

1. For $(n=1)$:

$$\begin{aligned} & a(1)^2 + b(1) + c = 1 \\ & a + b + c = 1 \quad \dots(1) \end{aligned}$$

2. For $(n=2)$:

$$\begin{aligned} & a(2)^2 + b(2) + c = 2 \\ & 4a + 2b + c = 2 \quad \dots(2) \end{aligned}$$

3. For $(n=3)$:

$$\begin{aligned} & a(3)^2 + b(3) + c = 5 \\ & 9a + 3b + c = 5 \quad \dots(3) \end{aligned}$$

Solving the system:

Subtract (1) from (2):

$$\begin{aligned} & (4a - a) + (2b - b) + (c - c) = 2 - 1 \\ & 3a + b = 1 \quad \dots(4) \end{aligned}$$

Subtract (2) from (3):

$$\begin{aligned} & (9a - 4a) + (3b - 2b) + (c - c) = 5 - 2 \\ & 5a + b = 3 \quad \dots(5) \end{aligned}$$

Subtract (4) from (5):

$$\begin{aligned} & \backslash[\\ & (5a - 3a) + (b - b) = 3 - 1 \\ & \backslash] \\ & \backslash[\\ & 2a = 2 \rightarrow a=1 \\ & \backslash] \end{aligned}$$

Now plug $(a=1)$ into (4):

$$\begin{aligned} & \backslash[\\ & 3(1) + b = 1 \rightarrow 3 + b = 1 \rightarrow b = -2 \\ & \backslash] \end{aligned}$$

Finally, substitute $(a=1)$ and $(b=-2)$ into (1):

$$\begin{aligned} & \backslash[\\ & 1 + (-2) + c = 1 \rightarrow -1 + c = 1 \rightarrow c = 2 \\ & \backslash] \end{aligned}$$

Result:

$$\begin{aligned} & \backslash[\\ & T(n) = an^2 + bn + c = n^2 - 2n + 2 \\ & \backslash] \end{aligned}$$

Verification:

- $(n=1)$:

$$\begin{aligned} & \backslash[\\ & 1^2 - 2(1) + 2 = 1 - 2 + 2 = 1 \\ & \backslash] \end{aligned}$$

- $(n=2)$:

$$\begin{aligned} & \backslash[\\ & 4 - 4 + 2 = 2 \\ & \backslash] \end{aligned}$$

- $(n=3)$:

$$\begin{aligned} & \backslash[\\ & 9 - 6 + 2 = 5 \\ & \backslash] \end{aligned}$$

- $(n=4)$:

$$\begin{aligned} & \backslash[\\ & 16 - 8 + 2 = 10 \\ & \backslash] \end{aligned}$$

- $(n=5)$:

$$\begin{aligned} & 25 - 10 + 2 = 17 \end{aligned}$$

Matches the sequence perfectly, confirming the formula.

Therefore, the n th term is:

$$\boxed{T(n) = n^2 - 2n + 2}$$

Analyzing the Series: Sum of the First n Terms

Formulating the Sum Function

The partial sum $S(n)$ of the series up to the n th term is:

$$S(n) = \sum_{k=1}^n T(k) = \sum_{k=1}^n (k^2 - 2k + 2)$$

This sum can be separated into three sums:

$$S(n) = \sum_{k=1}^n k^2 - 2 \sum_{k=1}^n k + 2 \sum_{k=1}^n 1$$

Using known formulas for these sums:

1. Sum of squares:

$$\sum_{k=1}^n k^2 = \frac{n(n+1)(2n+1)}{6}$$

2. Sum of first n natural numbers:

$$\sum_{k=1}^n k = \frac{n(n+1)}{2}$$

3. Sum of 1 repeated n times:

$$\sum_{k=1}^n 1 = n$$

Putting these together:

$$S(n) = \frac{n(n+1)(2n+1)}{6} - 2 \times \frac{n(n+1)}{2} + 2n$$

Simplify:

$$S(n) = \frac{n(n+1)(2n+1)}{6} - n(n+1) + 2n$$

Express all terms with common denominators:

$$S(n) = \frac{n(n+1)(2n+1)}{6} - \frac{6n(n+1)}{6} + \frac{12n}{6}$$

Combine:

$$S(n) = \frac{n(n+1)(2n+1) - 6n(n+1) + 12n}{6}$$

Factor numerator where possible:

$$n(n+1)(2n+1) - 6n(n+1) + 12n$$

Factor n :

$$n \left[(n+1)(2n+1) - 6(n+1) + 12 \right]$$

Compute inside the brackets:

$$(n+1)(2n+1) = 2n(n+1) + (n+1) = 2n^2 + 2n + n + 1 = 2n^2 + 3n + 1$$

So:

$$n \left[2n^2 + 3n + 1 - 6n - 6 + 12 \right] = n \left[2n^2 + 3n + 1 - 6n + 6 \right]$$

Simplify inside the brackets:

$$\begin{aligned} & \backslash[\\ & 2n^2 + 3n + 1 - 6n + 6 = 2n^2 - 3n + 7 \\ & \backslash] \end{aligned}$$

Therefore:

$$\begin{aligned} & \backslash[\\ & S(n) = \frac{n(2n^2 - 3n + 7)}{6} \\ & \backslash] \end{aligned}$$

Final sum formula:

$$\begin{aligned} & \backslash[\\ & \boxed{ \\ & S(n) = \frac{2n^3 - 3n^2 + 7n}{6} \\ & } \\ & \backslash] \end{aligned}$$

Behavior and Applications of the Series

Growth Rate and Pattern Analysis

The explicit formula for the sum of the first n terms reveals the series' growth behavior:

- The leading term $\backslash(\frac{2n^3}{6} = \frac{n^3}{3} \backslash)$ indicates cubic growth.
- As n increases, the sum behaves approximately like $\backslash(\frac{n^3}{3}$

Question 3 20 Points Tan 1 Tan 2 Tan 3 Tan 3 Tan 4 Consider The Series 2 5 10 17

Question 3 20 Points Tan 1 Tan 2 Tan 3 Tan 3 Tan 4 Consider The Series 2 5 10 17

Related Articles

- [Please Help I Really Need I Am Giving Away BrainiliestA Give The Present Participle Of The Following](#)
- [Read This Quotation From Paragraph 2 Of The Excerpt From The Article Those Old Piano Blues.What Does](#)
- [Software Enables Computers To Perform The Functions Of A Packet Filtering Firewall. Which](#)

[Choice Isa](#)

[Back to Home](#)